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 BGGCT-132  

BACHELOR OF SCIENCE (GENERAL) 

(CBCS)  

Term-End Examination 

February, 2021 

 

BGGCT-132 : HUMAN GEOGRAPHY  

Time : 3 hours Maximum Marks : 100 

Note :  Attempt all questions. Marks are indicated against 

each question.  

1. Attempt any five of the following questions : 54=20 

(i) What is spatial interaction ? How do 

complementarity, transferability and 

intervening opportunities impact spatial 

interaction ?  

(ii) Differentiate between ‘hazard’ and 

‘disaster’. Illustrate your answer through 

an example.  

(iii) Make a distinction between ‘language’ and 

‘dialect’. Illustrate your answer through an 

example.  
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(iv) How is ‘Ethnicity’ different from ‘Race’ ? 

Illustrate your answer through an 

example.  

(v) Give at least four differences between a 

Progressive and a Regressive population 

pyramid.  

(vi) What is Migration ? Differentiate between 

Immigration and Emigration.  

(vii) Differentiate between Wet point and Dry 

point settlements. Illustrate your answer 

with an example. 

(viii) What is ‘Ekistics’ ? List any three 

principles of a human settlement system, 

as proposed by Doxiadis.  

 

2. Define Human Geography. Identify the phases of 

its development in the various periods. Further, 

list the characteristics of each of these phases. 15 

OR 

 Explain any three approaches to the study of 

human-environment relationships.  15 
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3. Explain the peopling process of India. How is it 

important for the understanding of territory and 

region formations ?  15 

OR 

 What is a Cultural Region ? Explain the 

characteristics of cultural trait, cultural area, 

and cultural complex.  15 

 

4. Describe three physical and three socio-economic 

factors responsible for the uneven distribution of 

world population.  15 

OR 

 Explain the economic, social and environmental 

factors responsible for migration.  15 

 

5. List three differences between rural and urban 

settlements. Describe settlements on the basis of 

size, forms and functions.  15 

OR 

 Explain theories of internal structure of cities 

given by Burgess, Hoyt and Harris and Ullman. 15 
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6. Answer any two of the following questions in 

about 600 words each : 210=20 

(i) Write a note on time and space. 

(ii) Discuss spatial distribution of Scheduled 

Tribes in India.  

(iii) Discuss ‘Demographic Dividend’ with 

special reference to India.  

(iv) Explain models related to morphology of 

rural settlements in India.  
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 ~r.Or.Or.gr.Q>r.-132  

{dkmZ ñZmVH$ (gm_mÝ`) 

(gr.~r.gr.Eg.) 

gÌm§V narjm 

\$adar, 2021 

 

~r.Or.Or.gr.Q>r.-132 : _mZd ŷJmob  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  g^r àíZm| Ho$ CÎma Xr{OE & àË òH$ àíZ Ho$ A§H$ CgHo$ gm_Zo 

B§{JV h¢ &   

1. {ZåZ{b{IV _| go {H$Ýht nm±M  àíZm| Ho$ CÎma Xr{OE : 54=20 

(i) ñWm{ZH$ AÝV…{H«$`m Š`m h¡ ? ñWm{ZH$ AÝV…{H«$`m 

H$mo g§nyaH$Vm, hñVm§VaUr`Vm Am¡a _Ü`dVu Adga 

H¡$go à^m{dV H$aVo h¢ ?  

(ii) ‘g§H$Q>’ Am¡a ‘AmnXm’ _| AÝVa ñnï> H$s{OE & EH$ 

CXmhaU Ho$ _mÜ`_ go AnZm CÎma ñnï> H$s{OE &  

(iii) ‘^mfm’ Am¡a ‘~mobr’ Ho$ ~rM AÝVa ñnï> H$s{OE & 

EH$ CXmhaU Ho$ _mÜ`_ go AnZm CÎma ñnï>  

H$s{OE &  
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(iv) ‘g§OmVr`Vm `m Z¥OmVr`Vm’ ‘àOmVr`Vm’ go H¡$go {^Þ  

h¡ ? EH$ CXmhaU Ho$ _mÜ`_ go AnZm CÎma ñnï> 

H$s{OE & 

(v) dY©_mZ Am¡a à{VJm_r OZg§»`m {nam{_S> Ho$ ~rM 

H$_-go-H$_ Mma AÝVa ~VmBE &  

(vi) àdmg Š`m h¡ ? AmàdmgZ Am¡a CËàdmgZ Ho$ ~rM 

AÝVa ñnï> H$s{OE &  

(vii) Z_ {~ÝXþ Am¡a ewîH$ {~ÝXþ A{Ydmgm| Ho$ ~rM AÝVa 

ñnï> H$s{OE & CXmhaU g{hV AnZm CÎma ñnï> 

H$s{OE &  

(viii) ‘B{H$pñQ>Šg’ Š`m h¡ ? S>m°pŠg`m Ûmam àñVm{dV _mZd 

A{Ydmg àUmbr Ho$ {H$Ýht VrZ {gÕm§Vm| H$s gyMr 

~ZmBE &  

2. _mZd ^yJmob H$mo n[a^m{fV H$s{OE & {d{^Þ H$mbm| _| 

BgHo$ {dH$mg Ho$ {d{^Þ MaUm| H$mo {M{•V H$s{OE Am¡a 

BZ_| go àË`oH$ MaU H$s {deofVmAm| H$s gyMr ~ZmBE &  15 

AWdm 

 _mZd-dmVmdaU gå~ÝYm| Ho$ AÜ``Z Ho$ {H$Ýht VrZ 

CnmJ_m| H$s ì`m»`m H$s{OE &  15 
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3. ^maV Ho$ _mZd ~gmd H$s à{H«$`m H$s ì`m»`m H$s{OE & `h 

joÌ Am¡a joÌ JR>Z H$s g_P Ho$ {bE H¡$go _hÎdnyU© h¡ ?  15 

AWdm 

 EH$ gm§ñH¥${VH$ àXoe Š`m h¡ ? gm§ñH¥${VH$ bjU, 

gm§ñH¥${VH$ joÌ Am¡a gm§ñH¥${VH$ g§Hw$b H$s {deofVmAm| H$s 

ì`m»`m H$s{OE &  15 

4. {díd OZg§»`m Ho$ Ag_mZ {dVaU Ho$ {bE CÎmaXm`r VrZ 

^m¡{VH$ Am¡a VrZ gm_m{OH$-Am{W©H$ H$maH$m| H$m dU©Z 

H$s{OE & 15 

AWdm 

 àdmg Ho$ {bE CÎmaXm`r Am{W©H$, gm_m{OH$ VWm 

n`m©daUr` H$maH$m| H$s ì`m»`m H$s{OE &  15 

5. J«m_rU Am¡a ehar A{Ydmgm| Ho$ ~rM VrZ AÝVa ~VmBE & 

AmH$ma, ê$nm| Am¡a {H«$`mAm| Ho$ AmYma na A{Ydmgm| H$m 

dU©Z H$s{OE & 15 

AWdm 

 ~J}g, hm°`Q> Am¡a h¡[ag Am¡a Cë_¡Z Ûmam {XE JE eham| Ho$ 

AmÝV[aH$ g§aMZm Ho$ {gÕm§Vm| H$s ì`m»`m H$s{OE &  15 
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6. {ZåZ{b{IV _| go {H$Ýht Xmo  àíZm| Ho$ CÎma bJ^J  

600 eãXm| (àË`oH$) _| Xr{OE : 210=20 

(i) g_` Am¡a ñWmZ na {Q>ßnUr {b{IE & 

(ii) ^maV _| AZwgy{MV OZOm{V`m| Ho$ ^m¡Jmo{bH$ 

(ñWm{ZH$) {dVaU H$s {ddoMZm H$s{OE & 

(iii) ^maV Ho$ {deof gÝX^© _| ‘OZgm§p»`H$s` bm^m§e’ H$s 

MMm© H$s{OE &  

(iv) ^maV _| J«m_rU A{Ydmgm| H$s AmH¥${V{dkmZ go 

gå~pÝYV à{Vê$nm| (_m°S>bm|) H$s ì`m»`m H$s{OE & 


